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H7 7 9
HI
1
7>107Bg/cm® (7.0><10°Bg/cm’) 2.1
2 4> | ><10"Bq 7
10°Bg/cm® 1
4.5%
10°Bq 2.1><10"Bg
5 1
5.7>=<10"Bg/cm® (7.0><10°Bg/cm®)
1,000 1
1.5>10"°mSv
(ImSv ) 70 1
N.D. (7.0>=<10°Bg/cm®)
Bo
1Bg 1 1
Gy
10y 1kg 1
Sv
1 Sv  Gv
H7.5 7 5 5 7
2><107Bg/cm®
1><10"*Bg/cm’ 5.9><10%Bq
(7cps)
2.1><10"Bq
3 1
9.9><10'mSv
(ImSv )
100 1
5.5¢cps 7cps
30
40nGy h
N.D. (2.0>=<10Bg/cm’)
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H7.8 7 1
7 8 17 18 8 271
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10 3 13
H10 20 5
H13 10 9

13 12
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7>10°Bg/cm®

10°°Bg/cm®)

> 10%Bq

10%mSv
70 1

N.D.

13

2.1>10"Bq

1,000 1

(7

5.7>10"Bg/cm?

1.5%
ImSv



3><10“Bg/cm?

7>=<10°Bg/cm?

2 4%=<10°Bg/cm?

—7 7><10°Bg/cm3
kv/'\ 2 4><109Bg/cm?3

7>=<10°Bg/cm®
2 4x%<10°Bg/cm®
3>=<10™Bg/cm®
2.1><10"Bg/
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10-2Bg/cm?

1><1073Bg/cm?
5.5cps
7cps

N.D. (2=

10-2Bg/cm*)
20 1
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2><102Bg/cm3

11

7cps

13

13

5.9><10%Bq

10

N.D.

2.1>101Bq
3 1

9.9>10"7"mSv
ImSv 100

30 40nGy h
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[ \ _J/
{ A\ /ﬁ\ 7><103Bg/cm?3
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7cps
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